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ubject:
(a) Transpose the following formula to make v the SubJ

1 L
S=;Ioge[ T 2]

L=v

(b) Solve the following equation for 7:
sh=2 _3n -1

(c) The time, 7 seconds, for a voltage to drop from E to V', is given by

= CRlog, (5}

Calculate fwhen C=3x10°,R=2x10°,E=24 and V=15 .

(a) Plot the graph of y = 3tan x, for the range 0 <x < 1.2 in intervals of 0.2.

Note that the angle x is in radian measure.

Suggested scales:  horizontal axis 2 cm=0.2
vertical axis 2 cm =1

(b) Using thesameaxesandscales, plot thegraphof y —%n —5x, for therange

0<x<0.9,0n thegraph proeducedin ¢} 5(a).

(¢) Use the graphs plotted in Q5(a) and (35(b)
for0 <x<1.2
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(b} to solve the equation 5x + 3tanx =-m
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